Efficiency vs. dz (PV)

[_Efficiency (tracking eff factorized out) vs. dz (PV) ]

e L
= [

Efficiency (excl. trk

0.4

P

3] FENFETS A AN N AP A

Ratio

0.6

o 01 02 03 04 05 06 0% oI 02z 03 04 05
Cut on dz(PV) (cm) Cut on dz(PV) (cm)
—=— DQM_V0001_R000000001__Global__cmssw1000time__RECO
—e— DQM_V0001_R000000001__Global__mkFitNewOLD1000time__RECO
[Fake rat{ —— DQM_Vv0001_R000000001__Global__mkFitNewBins2DC1000time__RECO
S O.S:
...................... e F
3 0.7F
....... g o
5 0.6
o E
¢ 0.5F
o F
C 0.4F
= %IE
=2 o
2 03F-
= E
0.2F : :
0.1 : :
I\: 1 i 1 1 i
g+ ' :
T
""" @
901 0z 03 04 05 06 09901 02 03 04 05

“cuton dz(PV) (cm)

“cuton dz(PV) (cm)

0.6



	Contents
	Page 1


